

Topic —

Linear Differential Equations

B.Sc II (Maths Hons)

Date —

By - Samrendra Kumar

Study Material : →

An Equation of the form

$$\frac{dy}{dx} + py = q.$$

Where  $p$  and  $q$  are functions of  $x$  or constant is said to be linear Equation of 1st order.

Method for finding the General solution —  $\int p dx$

Step I - First Find I.F =  $e$

and use

$$e^{x \log 2} = 2^x$$

STEP II - Multiplying both sides by  $\int p dx$

$$\text{STEP III } \frac{d}{dx} (y e^{\int p dx}) = q e^{\int p dx}$$

$$\int d(y e^{\int p dx}) = \int q e^{\int p dx} dx$$

$$\Rightarrow y e^{\int p dx} = \int q e^{\int p dx} dx$$

Problem : → Solve  $\frac{dy}{dx} + y \tan x = 2 \cos x$

$$\text{I.F} = e^{\int \tan x dx} = e^{\log \sec x} = \sec x$$

$$\text{Now } \sin x \frac{dy}{dx} + y \cos x = 2 \cos x \sin x$$
$$\Rightarrow \frac{d}{dx} (y \sin x) = \sin 2x$$

$$\Rightarrow \int d(y \sin x) = \int \sin 2x dx$$

$$\Rightarrow y \sin x = -\frac{\cos 2x}{2} + C$$

$$\Rightarrow y \sin x + \frac{\cos 2x}{2} = C$$

Ex: 2. Solve.

Sol:  $\Rightarrow \cos^2 x \frac{dy}{dx} + y = \tan x$

Given Equation is

$$\cos^2 x \frac{dy}{dx} + y = \tan x$$

$$\Rightarrow \frac{dy}{dx} + y \sec^2 x = \frac{\sin x}{\cos x \cdot \cos^2 x}$$

$$\Rightarrow \frac{dy}{dx} + \sec^2 x \cdot y = \tan x \sec^2 x$$

Now I.F. =  $e^{\int \sec^2 x dx} = e^{\tan x}$

Now Multiplying by  $e^{\tan x}$  on both sides -

$$e^{\tan x} \cdot \frac{dy}{dx} + y e^{\tan x} \sec^2 x = \tan x \sec^2 x e^{\tan x}$$

$$\Rightarrow \frac{d(y e^{\tan x})}{dx} = \int e^{\tan x} \cdot \tan x \sec^2 x dx$$

$$\Rightarrow y e^{\tan x} = \int e^{\tan x} \tan x \sec^2 x dx$$

Now  $I_1 = \int e^{\tan x} \tan x \sec^2 x dx$

put  $\tan x = z$

$\sec^2 x dx = dz$

$$I_1 = \int z e^z dz$$

Integrating by parts

$$z \int e^z dz = \int \int e^z dz \cdot \frac{dz}{dz} dz$$

$$= z e^z - \int e^z dz$$

$$= z e^z - e^z$$

$$= (z-1) e^z + C$$

$$= (\log x - 1) e^{\log x} + C$$

∴ Required solution.

$$y e^{\log x} = (\log x - 1) e^{\log x} + C$$

$$\Rightarrow y = (\log x - 1) + C e^{-\log x}$$

Ex: → 3  $\frac{dy}{dx} + \frac{1-2x}{x^2} y = 1$

Solution - Given Equation is

$$\frac{dy}{dx} + \frac{1-2x}{x^2} y = 1$$

$$\therefore I.F. = \int \frac{1-2x}{x^2} dx$$

$$= e^{\int \left[ \frac{1}{x^2} - \frac{2}{x} \right] dx}$$

$$= e^{\left( -\frac{1}{x} - 2 \log x \right)}$$

$$= \frac{e^{-\frac{1}{x}}}{e^{2 \log x}} = \frac{e^{-\frac{1}{x}}}{x^2}$$

$$\therefore \frac{d}{dx} \left( \frac{y}{x^2} e^{-\frac{1}{x}} \right) = \frac{e^{-\frac{1}{x}}}{x^2}$$

$$d\left(\frac{y}{x^2} e^{-\frac{1}{x}}\right) = \int \frac{e^{-\frac{1}{x}}}{x^2} dx$$

$$\frac{y}{x^2} e^{-\frac{1}{x}} = \int \frac{e^{-\frac{1}{x}}}{x^2} dx$$

put  $\frac{1}{x} = z$

$$-\frac{1}{x^2} dx = dz$$

$$\frac{1}{x^2} dx = -dz$$

$$= \int e^z dz$$

$$= -e^z$$

$$= -e^{\frac{1}{x}} + C$$

$$\therefore \frac{y}{x^2} e^{-\frac{1}{x}} = -e^{\frac{1}{x}} + C$$

$$y e^{-\frac{1}{x}} = -x^2 e^{\frac{1}{x}} + C x^2$$

$$y = \frac{-x^2 e^{\frac{1}{x}}}{e^{-\frac{1}{x}}} + \frac{C x^2}{e^{-\frac{1}{x}}}$$

$$y = -x^2 e^{\frac{2}{x}} + C x^2 e^{\frac{1}{x}}$$

Which is the required solution.